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Corrigenda

Vol. 42, No. 5, page 2544, right column, line 11 should read:

(Figure 3A). The mean survival for patients with S-PCI

Vol. 42, No. 5, page 2545, left column, line 9 should read:

The mean OS (in months) for the entire cohort was 40.4

Vol. 42, No. 5, page 2547, Table V, row 5 should read:

ECOG=1

Vol. 42, No. 5, page 2547, Table V, rows 29 and 30 should read:

PFS Mean (months)
OS Mean (months)

Vol. 42, No. 7, page 3332, Figure 4B should be replaced with:
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Vol. 42, No. 7, page 3336, Figures 6A and 6B should be replaced with:
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TCFI/LEF reporter assay

Vol. 42, No. 10, page 4890, Table IV, row 1 should read:

PMI<3.92 cm?/m? PMI>3.92 cm?/m2
(n=68) (n=66)

Vol. 42, No. 10, page 4890, Table V, row 1 should read:

PMI<3.92 cm?2/m?2 PMI=3.92 cm2/m?
(n=68) (n=66)
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